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i. Essay questions. Answer any tw*. i2xG=13)

1) Explain tlre role of thyrcid anci isleis of Langerhans as endocrine organs.

2) Ex;:lain the irormonal contr"o! of nrenstrual cycle.

3) Give an account on cancer and carcinogens.

4) Briefly explain the ultra str'.rclure ci striated muscle fibre and the process of
rnrrscle ccntraction.

ll. Short essay questions. Answer eriy twc. {2x3=g}
5) Cornrnent r:n the communicable diseases.

G) lxplaiii i.iic si.i-uutui-e of (jv--if i",ili'i ihe hei;; ui a diagram.

7) Comment on C:"ug addiction anci its ili effects.

ill. Short &ilsvrcr questions. Ansv,rer en.; six. (S:rt=i *)
B) What is rigcr rnortis ?

9) Comment on the process of parturitlon.

10) lrlame different types of sy,noyl6! join're ai;cl give examples.

11) Vdhat are ihe differences bsiv,,eerr sperniaicgenesis and oogenesis ?

12) Name the muscle proteins.

13) What are STDs ? Cornment on any two STDs.

14) Give an account on arlificial respiration.

15) What is blastocyst ? Write on its structure.

P.T.O.



K21U 1tsi

lv' l''4ultiple choice questicns. r*r' questions compufsory.
16) \'vhich among the foilowing hormone is a nrinerarocorticoide ?a) Testosterone

b) Oestrogen
c) Cortisol
d) Aldosterone

17) vdhich among the foroinring is a bone of hind rimb ?a) Femur
b) Radius
c) Carpel
d) Humerus

1B) lJuman chorionic Gonadotrophins (HCG) are secreted from thea) pituitary gfand
b) placenta

c) Hypothafamus
d) Adrenal medulla

1g) \r'/hicl: amcng the fcllo,rying disease arises due to smcking ?a) Cirrhosis
b) Emphysema
c) Arthritis
d) Hepatitis
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